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CLanwukGp 4777 4564 4 186 2 21 0
Syjwy mGwjhl nlGntumpjul wlnudh 4397 4252 1 144 0 0 0
Mtnmpjwb 112 95 1 10 0 6 0
{wiwyGph 59 45 0 8 0 6 0
bpwjuwpwlwlwl widp 22 1 3 0 1 0
Uj whdwlg 186 153 2 21 2 8 0

Qlpwolitp 1 1 0 0 0 0 0

Lwnupwjhb 527 512 4 8 0 3 0

Syjwy mGwjhl nbGntumpjul wlnudh 490 487 1 2 0 0 0
Mbwmnipjub 7 3 1 1 0 2 0
{wiwyGph 3 2 0 0 0 1 0
bpwjwpwlwlwl widh 3 3 0 0 0 0 0
U1 wGdwig 24 17 2 5 0 0 0
Qlpwolibp 0 0 0 0 0 0 0
Qb 4250 4052 0 178 2 18 0

Syjwy mGwjhl nbGntumpjul wlnudh 3907 3765 0 142 0 0 0
Mtnmpjwb 105 92 0 9 0 4 0
{wiwyGph 56 43 0 8 0 5 0
bpwjwpwlwywl widh 19 15 0 3 0 1 0
Uj whdwlg 162 136 0 16 2 8 0
QUywolikp 1 1 0 0 0 0 0

* Uhpwnuwo st6 wGoplwl wGwjhG mGmbunipymGGtpp
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